Smedstadens BK
Jultavling 1 av 2 2021-12-06

Partavling, 5 bord, 10 par. Antal brickor: 27. Medel: 108.0.

Plac  Par Poéng % Namn MID Klubb

1 9 130.1 60.21  Rainer Trapp - Cristiano Messaad 36579 66312 Smedstadens BK

2 6 126.2 58.42  Christer Lorentzon - Bjorn Avén 90687 66319 Smedstadens BK

3 7 1211 56.07  Per-Ake Jansson - Catarina Skau Olsson 2714 21342 Smedstadens BK

4 3 119.1 55.13  Johnny Henriksson - Christer Henriksson 66316 200053  Smedstadens BK

5 1 107.4 49.72 Lennart Jonasson - Lars Gustavsson 6775 55817 Smedstadens BK

6 4 103.4 47.89  Anders Johansen - Christer Fransson 82466 13729 Smedstadens BK

7 5 101.7 47.06  Benny Karlsson - Mikael Eliasson 9893 63 Smedstadens BK

8 8 99.7 46.14  Rigmor Ohlander - Ann-Marie Larsson 92978 34689 Smedstadens BK

9 10 88.9 41.16  Eva Brusén Stenman - Lena Erlandsson 55819 55820 Smedstadens BK

10 2 825 38.20  Torbjorn Lindblom - Birgit Lindblom 13706 13705 Torshélla BK
1 Nord Ingen 2 Ost NS 3 Syd OV

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang

52 44 N= ¢ A 130 80 00| 52 64N= *A 1370 80 00| 98 4vDV-1 s A 200 8.0 0.0

98 2vS= 6 110 6.0 20| 7 3 5#N+1 *A 620 6.0 20 7 3 24 N-1 v8 -50 6.0 2.0

46 4vS-1 *A -50 3.0 50| 10 1 Pass 40 40| 46 2vV+1 a K -140 3.0 5.0

73 4vS-1 *A -50 3.0 50| 98 64N-1 *A -100 2.0 60| 52 3vV= s A -140 3.0 5.0
10 1 3¢ O= LY -110 0.0 80| 4 6 44 N-2 vT -2000 0.0 80|10 1 2NV+1 s A -150 0.0 8.0
4 Vast Alla 5 Nord NS 6 Ost OV

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

57 44 V-5 &T 500 80 00| 57 INO-1 +3 50 70 1.0 6 3 3NN= vA 400 8.0 0.0

19 24V-2 *4 200 50 30|10 2 240-1 *A 50 70 10| 10 2 4¢ S= vQ 130 6.0 2.0

6 3 4v O-2 +5 200 50 3.0 19 340= *A -140 3.0 50| 8 4 4v0O-1 + K 100 40 4.0

8 4 4v O-1 +5 100 20 6.0 6 3 24 O+1 vA -140 3.0 50| 1 9 5¢ N-1 a7 -50 1.0 7.0
10 2 4v O = *A -620 0.0 80| 8 4 34DS-3 v6 -800 0.0 80| 57 3NN-1 v3 -50 1.0 7.0
7 Syd Alla 8 Vast Ingen 9 Nord OV

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

21 4v N-1 *2 -100 4.0 40| 21 3NN+1 s A 430 70 10| 7 4 34 N= *A 140 70 1.0

6 8 4v N-1 ¢+ 4 -100 4.0 40| 6 8 3NS+1 s A 430 70 1.0 95 24 N+1 48 140 7.0 1.0

7 4 3NS-1 +Q -100 4.0 40| 7 4 3NS= 48 400 40 40| 2 1 44 N-1 v4 -50 3.0 5.0

95 4v N-1 *2 -100 4.0 40| 95 2NS+2 a5 180 20 6.0 6 8 44 N-1 *A -50 3.0 5.0
10 3 2¢v N-1 *2 -100 4.0 40| 10 3 3#S= s A 110 0.0 80 10 3 34 N-2 v4 -100 0.0 8.0
10 Ost Alla 11 Syd Ingen 12 Vast NS

Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng

32 44D0O-1 vA 200 70 10| 16 2v S+l s A 140 80 00| 16 3¢ 0+1 vA -130 4.0 4.0

8 5 44DO-1 +8 200 70 10| 7 9 4eV-1 +Q 50 50 3.0 32 4¢0= &T -130 4.0 4.0
10 4 2¢ V+1 v3 -110 40 40|10 4 24 0-1 + K 50 50 30| 7 9 3¢0+1 &T -130 4.0 4.0

16 24 0+1 vA -140 1.0 70| 3 2 24 0+1 + K -140 2.0 60| 85 3¢ O+1 vK -130 4.0 4.0

79 24 O+1 vA -140 10 70| 85 5#V= vA -400 0.0 8.0 10 4 3¢ O+1 vA -130 4.0 4.0
13 Nord Alla 14 Ost Ingen 15 Syd NS

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang

4 3 4y N= 43 620 80 00| 96 24V-3 +6 150 80 00| 81 3NV+1 *5 -430 8.0 0.0

96 3v N+1 a2 170 6.0 20( 43 INO-1 46 50 6.0 20| 4 3 3NO+2 *3 -460 5.0 3.0

81 3vS= ] 140 40 40| 8 1 24 S-2 *A -100 4.0 40| 9 6 3NV+2 *9 -460 5.0 3.0
10 5 24 O-1 *A 100 20 60105 3vO+1 s A -170 2.0 6.0 2 7 3NV+3 &T -490 1.0 7.0

27 4v S-1 *7 -100 0.0 80| 27 3NO= s A -400 0.0 80| 10 5 3NV +3 *2 490 1.0 7.0
16 vast OV 17 Nord Ingen 18 Ost NS

Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang Par  Kontr Ut Res Poéang

9 2 44 S-2 s A -100 8.0 00| 5 4 34DV-2 *6 300 80 00| 9 2 3¢ O+3 v3 -170 8.0 0.0

38 24V= *A -110 6.0 20| 9 2 4¢ S= 46 130 6.0 20| 10 6 3NV +1 vA -430 6.0 2.0

17 24V+1 v] -140 3.0 50| 17 4a4V-1 +6 50 30 50| 17 3NV+3 a7 -490 2.0 6.0

54 24 V+1 v] -140 3.0 50| 10 6 34 V-1 2 50 3.0 50 38 3NV+3 a7 -490 2.0 6.0
10 6 44 V= v6 -620 0.0 80| 3 8 24 V+1 *6 -140 0.0 80| 54 3NV+3 a7 -490 2.0 6.0
19 Syd OV 20 Vast Alla 21 Nord NS

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

49 3¢ N= vK 110 70 10| 1 3 4v V+3 +Q -710 6.0 20| 6 5 INDN+1 3 380 8.0 0.0

6 5 3¢ N= vK 110 70 10| 2 8 4v V+3 +J -710 6.0 20| 2 8 2NO-2 +9 100 6.0 2.0

13 3v0-1 s A 100 30 50| 49 4v0O+3 &K -710 6.0 20| 1 3 Pass 40 4.0

28 3v0O-1 s A 100 30 50| 65 6y O+1 *A -1460 2.0 60| 4 9 INN-2 vA -200 2.0 6.0
10 7 2v O +1 2 -140 0.0 80|10 7 7v V= 2 -2210 0.0 80| 10 7 2¢ N-4 vA -400 0.0 8.0
22 Ost OV 23 Syd Alla 24 Vst Ingen

Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng

7 6 3v N+2 *A 200 80 00| 3 9 3NS+1 46 630 70 10( 10 8 4v O -2 *4 100 8.0 0.0

51 44 S= 2 130 6.0 20| 10 8 3NS+1 48 630 70 10| 2 4 44 O+1 & -450 6.0 2.0

24 4¢ O-1 + K 100 40 40| 2 4 2v0-2 +8 200 40 40| 51 44 O+2 v2 -480 4.0 4.0

39 2¢ V+2 *A -130 1.0 70| 51 3#N+1 vA 130 20 6.0 3 9 3NV+3 v6 490 1.0 7.0
10 8 3¢ O+1 LY -130 1.0 70| 7 6 3NS-1 v6 -100 0.0 80| 7 6 3NV+3 v5 -490 1.0 7.0
25 Nord OV 26 Ost Alla 27 Syd Ingen

Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng

41 INN+1 *9 120 80 00| 35 3vS= 49 140 6.0 20 35 3NS= + K 400 8.0 0.0

6 2 1lvV= +Q -80 6.0 20| 41 2vS+1 49 140 6.0 20| 6 2 2v S+2 a K 170 6.0 2.0

3 5 INN-2 +6 -100 3.0 50| 8 7 3vS= 49 140 6.0 20| 10 9 3v S= &T 140 40 4.0

8 7 INN-2 49 -100 3.0 50| 62 240-1 vA 100 10 70| 41 4vS-1 + K -50 1.0 7.0
10 9 INO+1 *4 -120 0.0 80| 10 9 3¢ O-1 *A 100 10 70| 87 4vS-1 + K -50 1.0 7.0
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